Matematika — emelt szint

Oktatasi Hivatal

MATEMATIKAI KEPLETTAR

Hatvanyok
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Haromszogek
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Felszin és térfogat

Csonkagtla: v =%(T +\/T_t+t)

Csonkaktp: A= n[RZ +r’+(R+ r)a}
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Trigonometriai osszefiiggések
sin(a.£p)=sina.cosp+cosasinp
cos(a+B)=cosacospFsinasinp

tga £ tgp
1Ftgatgp

tg(a+p)=

Differencialszamitas

(c-f)'=c-f'
(f+g)'=f'xg’
(f-g)=f-g+f-g
fy f.g-f-g
(Ej Bk
(f(@)'=1'(9)-9’

(sinx)'=cos x

(tgx)'=—
COS™ X

Integralszamitas

I(c- f)=c-jf
Isinx dx=-cosx+C
fz—jf

b

b
(c- f):c-jf
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Valosziniiségszamitas

P(A)+P(A) =1

P(A+B)=P(A)+P(B)—P(A-B)

P(A-B)

P(A|B)= P(B)

(cos x)'=—sin x

(ctgx)'=——
SIn™ X

I(fig)zj.fi_[g

Icosx dx=sinx+C
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